
Nimi: 　　　　　　　 Päivämäärä: 　　　　　　 Pisteet: 　　　

Eksponentit 10

10 =3 10 =4

10 =2 8, 83 × 10 =2

−2 × 10 =3 10 =5

10 =3 2, 66 ÷ 10 =5

10 =4 5, 88 × 10 =0

4, 88 ÷ 10 =2 10 =3

2 × 10 = 10 =6

10 =4 8 × 10 =3

10 =2 7 × 10 =3

10 =3 2, 88 × 10 =3
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Nimi: 　　　　　　　 Päivämäärä: 　　　　　　 Pisteet: 　　　

Eksponentit 10

10 = 10003 10 = 100004

10 = 1002 8, 83 × 10 = 8832

−2 × 10 = −20003 10 = 1000005

10 = 10003 2, 66 ÷ 10 = 2.66E − 055

10 = 100004 5, 88 × 10 = 5.880

4, 88 ÷ 10 = 0.04882 10 = 10003

2 × 10 = 20 10 = 10000006

10 = 100004 8 × 10 = 80003

10 = 1002 7 × 10 = 70003

10 = 10003 2, 88 × 10 = 28803
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